Weekly Math # 2 Name:
Date Due; Period:
YOU MUST SHOW WORK
1. Solve, 2, Solve. 3. Find the 4. Find the next
Greatest Common | two terms in the 1
3.07 4-8+4: 3= Factor (GCF) of pattern: )
x12 36 and 54.
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3,
4-
5. Ifittakes5% 6. Calculate 7. Round 0.41275 to | 8. Which of the 5.
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one cut through a 0.8x0.15 = thousandth. of 3307
log, how long will it 6
take to cut a five Circle your answers |
foot loginto 5 in the answer
equal lengths? column,
7.
8. 2345
6 8910
9, Write youranswer | 10, 11. Solve. 12. write your
as a mixed number in On Tuesday it took answer as a mixed 9
2 7 to her aunt’s house. X 30 FORM.
454115 = Due to the busy
5 + 8 weekend traffic, 5 . 15 _
Saturday it took her 3% 7 28 10.
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13. Solve.

14, The total
number of voters

15. Baseball cards
can be ordered in

16. Which
property is shown?

128.6 = 0.25 in favor of a new packages of 12, 36, | Write the letter of 13.
sports arena is 108 and so on, If | youranswer choice.
952,000. Of that the package sizes
total, 764,283 are | continue to atb=b+a 14
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voters are women? | same rate, what is
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number in SIMPLEST 42.83 -89 = coins are put into - number in SIMPLEST 17.
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